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Assignment II

1) What is hidden and exposed terminal problem? Explain how multiple access with the collision avoidance scheme avoids hidden and exposed terminal problem.

2) Discuss the agent discovery and registration mechanism of mobile IP.

3) Briefly explain the features and application of ad-hoc network.

4) Draw the protocol architecture of Bluetooth and briefly explain the base band layer and L2CAP of Bluetooth.

5) Discuss the free space and multipath fading propagation model in wireless communication.

6) Compare and contrast FDMA and TDMA with examples.

